lecture_11.notebook February 22, 2019

C&"’&n 3(on l. sevclcl 4’ 50080500 ¢ (Ol e M-pccméac
‘ea‘upfws Seen on /5«67)

xelR — x eRF .
g.g.' wher =2 m‘;&‘)‘:ﬁq(“")s
Y = f(«,,\c.) +£ L
whese {.R —R

Let g, eR, < - s (<, %) eR® | =4
T‘ f"bkﬁ ‘3 IO “J ’& P"“‘éf’ F '404 L TP X2
pir 2[4 B0 - Alscr) Al
whee @ hes -
w; = '»T" x(&r":‘) I (LY.

hy
Dote "l\:{-alcfedc'lvu% peramelers, he, by b e ke 020t
+k J’ reat V&“lbc[t ¢t Jmou'uu
Aqu we obisin p-llm Fhe m}"@ loest-Spuves
= (x” wz} W

where ¢ (4. -- ‘J)
W= d“jl"‘/ “/%)

X = ('f-, Xiq =% ) %o =%



lecture_11.notebook February 22, 2019

While there s ng canceptoil difference from poe b e goensf
P=f ,in paclice P>2 s alwest never veed
= difpcolties ,a“'y fnsuckeny metely
= herd o interpret Hhe res
- Qvrse :{_J.‘m« s.‘oru&'{/_
When Hhe nymber of dimensioks Mmeresse  the mmber of
ob$¢rw‘fcbns cose 4o e Poiat- of interert o decrexes very

qo(c‘tly X oUnt
€ .g. ) [
A "‘“ ‘
So//ebs —y
257 obs REY obs

T oder fo com asste far Ve incresse JMu:.‘ou/c%, L]
II:!.JO 2 awmbes fé O&rcﬁ(kn Fhat increases of oeker nf
(eg., if ve wiut & vse (00 daervibhoss i 4 himeas3e 100 neal 4o =
4 0b00°00 a0o0 (fo biliens) &scrd’#m”twﬂ 5 vendbla,
wilh Ao warnnbls, ce wadld need Aoo }
The ’n!p(e“ holds ﬂr ol M-paramu‘\b kechrpves
— auaber of hesrvabisy
~ campotsblonal cost

¢ : iacd Coli pones {5
AH‘,M‘{-M (”.‘fe& rctrck:‘ p;lnaa*a'(d on o fow JM&S&:)



lecture_11.notebook February 22, 2019

Splines : plecounse polytemis!  Ponctoms
- spli He so//on‘ of X dtte severs! ceplons .
(fie Kpuints, 3, ch . c B )aTFam ’L! SR &
- Pt 2 polrmta/ instle each ifervel *

LDJ Hhe pu{cml chrcc d (3‘-'3 nagt abuays J-")
- e Frce Ve pelynemials J have dle some :zfe"c‘s :.?3

f(!:) < £(3{’)
- seme with He Perst derisative
£'(%) = £(287) .
- eud with Ve second dercvilore
(1) = g(8:)
(sS¢ sted fo e ur«‘aé:‘/«'«s, h The ﬂ«n‘...( o £
I\::F f:,lc:: es( ::4 5, aned K?", rqrcoluVC(,) we F"“
£')=0 (trylt i)

/)ﬂf;rz/
."Aif ‘:’:’Cﬂ . / eubic
( : ,SPlc'-rc;

X




lecture_11.notebook February 22, 2019

Use £ ?//1«.3 Yo cuolocte the Q/a‘:'ws‘/p berura. x wdly

4= 80p) +e
5hnpk;'l ey : K=2 ,d=/
$ lis;p) = Bo +Bc 4R (=R Boe-t),

/\/ h =4 hi)s(ei),

h’b‘)‘x ﬁ(ﬂ-()“"g),‘.

7 o
where (2- I;)J_ em(o/ x-};) { ‘
! 4
‘f"‘/'P)= p""b‘) "Pl baé)*Pl)’s“)"p,lk(ﬁ) =’2;.%,,h35‘)
dba;";

Iﬂ #0 Ca3e e-E ovbic gfd',..;, wlh 3jmlm6-qll«-6'$

lb‘) . .Zci ?3 hiby)

& b h,f;’{
)= . hy(r)=x
Where hl(,), x) I“- ’34,..14 :’(‘:))”:
3 ) alp)ex

b, = (x-), b yesg,x

We aeed & decide K, the nomder of lowls ant whtere bo dooa i,
K is wr osmple<it, porameton : hyber veloas pere anplec fonctss
Ly Pind by cross- validalien

Once we sekoted k ., Ve Gea prshin fhe sonets
- wu'ﬁ-ctni/-f ‘I‘"j e s: renge =1
- vsing He quinkiles £ He empirscsl dibribyban of

B e il

ti1e) 0




lecture_11.notebook February 22, 2019

S/mno'/éd.; g/e'aa
Constder (4 ‘nulizcl k&“ syueog cn*@u...

b(E,3) =Sls: - b 42 [l ee e 2w
A s th sme .H-‘a, fumu.ér

The paclly peazlices e . -
‘boﬁl”mw; of & arve

-0, MR el mere — «b
{\cornlale s allowes, wbsl Rr dso —e Mierpslotfos

arviloe & pmlc'a{ tore tanl mer, S0 for <

4 —:/:.{awaf luge A —2 Slea gt line
The impostm€ resolé (Grenn & Shhermen, 19%) & fhet Ve
minimizes of blf,)) is o nglvrel cubic spline .
which asn be rewnbe o

1R 110

J=!

Ne » ol va peints x;
ﬂi () are t {;:-’ &RJ‘“S { o nalorsl cvbic S«/dws‘

p{.(“) >Z , ”(x) =X, Ntsz &)= JR (x) - é‘" (’j

¢ ’ ? - ¢ ] wl denre Moo
wn'l 4w (<-d)i-0x-2n ), U Shewates
zk '3&

ﬂc nice ,,‘,L s thk we can rewribe M(R,A)»
ME,A) = (4-w9)(4-08) + AP RF
where ng;l « V() aud gﬁ_{ka fN:-'(‘)AC(é)ff'
Ths @mv/c/\ remind vs Yot £ +e rdge resressiy , so
7= (WOAQTRG - et
g TR T

fhe soloboon ‘kp‘“{s - J‘\ e&é( by ctoss-veldetoo




	Side 1: feb. 22-08:21
	Side 2: feb. 22-08:35
	Side 3: feb. 22-08:47
	Side 4: feb. 22-09:20
	Side 5: feb. 22-09:39

